## Research article

# Some identities involving derangement polynomials and $r$-Bell polynomials 

$\operatorname{Aimin} \mathbf{X u *}$<br>Institute of Mathematics, Zhejiang Wanli University, Ningbo 315100, China

* Correspondence: xuaimin1009@hotmail.com.


#### Abstract

In this paper two kinds of identities involving derangement polynomials and $r$-Bell polynomials were established. The identities of the first kind extended the identity on derangement numbers and Bell numbers due to Clarke and Sved and its generalizations due to Du and Fonseca. The identities of the second kind extended some of the results on derangement polynomials and Bell polynomials due to Kim et al.


Keywords: derangement polynomials; $r$-Bell polynomials; Stirling numbers; identities
Mathematics Subject Classification: 05A10, 05A19, 11B83

## 1. Introduction

A permutation of a set of elements ranking from one to $n$ is called derangement if none of the elements is left at its original place. The number of derangements of a set of $n$ elements is denoted by $D_{n}$ throughout this paper. The first few derangement numbers are $D_{1}=0, D_{2}=1, D_{3}=2, D_{4}=$ $9, D_{5}=44$, with $D_{0}=1$ being defined by convention and the familiar inclusion-exclusion principle giving a closed formula as follows $[5,16]$

$$
\begin{equation*}
D_{n}=n!\sum_{k=0}^{n} \frac{(-1)^{k}}{k!}=\sum_{k=0}^{n}(-1)^{n-k}\binom{n}{k} k!, \tag{1.1}
\end{equation*}
$$

which can be also obtained by applying the generating function of the derangement numbers $[6,16]$

$$
\begin{equation*}
\frac{e^{-t}}{1-t}=\sum_{n=0}^{\infty} D_{n} \frac{t^{n}}{n!} \tag{1.2}
\end{equation*}
$$

The derangement numbers satisfy the following recurrence relations

$$
\begin{equation*}
D_{n}=(n-1)\left(D_{n-1}+D_{n-2}\right), n \geq 2 \tag{1.3}
\end{equation*}
$$

and

$$
\begin{equation*}
D_{n}=n D_{n-1}+(-1)^{n}, n \geq 1, \tag{1.4}
\end{equation*}
$$

with $D_{0}=1$ and $D_{1}=0$. The above two recursion formulae allow us fast evaluation of $D_{n}$. Moreover, Qi, Wang and Guo [15] established a new recurrence relation

$$
\begin{equation*}
D_{n}=\sum_{k=0}^{n-2}\binom{n}{k}(n-k-1) D_{k}, n \geq 2 \tag{1.5}
\end{equation*}
$$

A short proof was given by Fonseca [9].
Let $B_{n}$ denote the $n$th Bell number, defined as the number of partitions of a set of cardinality $n$ (with $B_{0}=1$ ). The Bell number $B_{n}$ can be represented by the sum of Stirling numbers of the second kind, as follows

$$
\begin{equation*}
B_{n}=\sum_{k=0}^{n} S(n, k), \tag{1.6}
\end{equation*}
$$

where $S(n, k)$ are the Stirling numbers of the second kind. The Bell numbers obey the recurrence

$$
\begin{equation*}
B_{n+1}=\sum_{k=0}^{n}\binom{n}{k} B_{k} \tag{1.7}
\end{equation*}
$$

and satisfy the generating function

$$
\begin{equation*}
e^{e^{t}-1}=\sum_{n=0}^{\infty} B_{n} \frac{t^{n}}{n!} \tag{1.8}
\end{equation*}
$$

Both Bell numbers and derangement numbers are important tools in the study of special sequences and combinatorics. In [5], an interesting connection between the derangement numbers and the Bell numbers was established by the probabilistic method:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} k^{s} D_{k}=n!\sum_{k=0}^{s}\binom{s}{k}(-1)^{k} n^{s-k} B_{k}, n \geq s \geq 0 \tag{1.9}
\end{equation*}
$$

Recently, Du and Fonseca [7] provided a general identity for the derangement numbers and the Bell numbers which includes (1.1), (1.5) and (1.9) as particular cases. They also provided a combinatorial interpretation and established a general determinantal representation in terms of a Hessenberg matrix. For more interesting identities involving the derangement numbers, the Bell numbers and their generalizations, one is referred to [13] and the references therein.

The aim of this short note is to establish two kinds of identities involving derangement polynomials and $r$-Bell polynomials. The identities of the first kind are mainly inspired by the work in [5,7], and they are the extensions of (1.9). The identities of the second kind generalize some of the results on derangement polynomials and Bell polynomials in [12]. The definitions of the derangement polynomials, the $r$-Bell polynomials and some necessary properties will be presented in the next section.

## 2. Preliminaries

We begin by recalling the definition of the derangement polynomials. The derangement polynomials $D_{n}(x)$ are defined by

$$
\begin{equation*}
\frac{e^{-t}}{1-t} e^{x t}=\sum_{n=0}^{\infty} D_{n}(x) \frac{t^{n}}{n!}, \tag{2.1}
\end{equation*}
$$

which have been considerably investigated in [8, 10-12]. They are natural extensions of the derangement numbers because $D_{n}(x)=D_{n}$ when $x=0$. The derangement polynomials $D_{n}(x)$ obey the recursive relation

$$
\begin{equation*}
D_{n}(x)=n D_{n-1}(x)+(x-1)^{n} . \tag{2.2}
\end{equation*}
$$

As a direct consequence of (2.1), two closed formulae for the derangement polynomials are

$$
\begin{equation*}
D_{n}(x)=\sum_{k=0}^{n}\binom{n}{k} D_{k} x^{n-k} \tag{2.3}
\end{equation*}
$$

and

$$
\begin{equation*}
D_{n}(x)=\sum_{k=0}^{n}\binom{n}{k} k!(x-1)^{n-k}, \tag{2.4}
\end{equation*}
$$

respectively. The $r$-Stirling number denoted by $S_{r}(n, k)$ enumerates the partitions of a set of $n$ elements into $k$ nonempty, disjoint subsets such that the first $r$ elements are in distinct subsets. A systematic treatment on the $r$-Stirling numbers was given in [1] and a different approach was described in [2,3]. The $r$-Stirling numbers have the 'horizontal' generating function

$$
\begin{equation*}
(x+r)^{n}=\sum_{k=0}^{n} S_{r}(n+r, k+r)(x)_{k}, \tag{2.5}
\end{equation*}
$$

where the falling factorial of a given real number $x$ is $(x)_{k}=x(x-1) \cdots(x-k+1)$. From (2.5), the explicit expressions of $S_{r}(n+r, k+r)$ are given by

$$
\begin{equation*}
S_{r}(n+r, k+r)=\frac{1}{k!} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j}(j+r)^{n} . \tag{2.6}
\end{equation*}
$$

In particular, when $r=0$, we have $S_{r}(n+r, k+r)=S(n, k)$, where $S(n, k)$ are the Stirling numbers of the second kind. In [14], $r$-Bell numbers and $r$-Bell polynomials are defined by

$$
\begin{equation*}
B_{n, r}=\sum_{k=0}^{n} S_{r}(n+r, k+r) \tag{2.7}
\end{equation*}
$$

and

$$
\begin{equation*}
B_{n, r}(x)=\sum_{k=0}^{n} S_{r}(n+r, k+r) x^{k}, \tag{2.8}
\end{equation*}
$$

respectively. The exponential generating function for the $r$-Bell polynomials is

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n, r}(x) \frac{t^{n}}{n!}=e^{x\left(e^{t}-1\right)+r t} \tag{2.9}
\end{equation*}
$$

It is clear that the $r$-Bell polynomials $B_{n, r}(x)$ reduce to the well-known Bell polynomials $B_{n}(x)$ [6] when $r=0$. For more about r -Bell polynomials, especially from an algebraic perspective, one can refer to reference [4], in which partial $r$-Bell polynomials in three combinatorial Hopf algebras are introduced.

## 3. Main results

In this section, two kinds of identities involving the derangement polynomials and the $r$-Bell polynomials are established. The following lemma plays an important role.
Lemma 3.1. If both $r$ and $s$ are nonnegative integers, then we have

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k}(n-k+r)^{s} x^{n-k} D_{k}(1-x)=n!\left\{B_{s, r}(x)-\sum_{j=n+1}^{s} S_{r}(s+r, j+r) x^{j}\right\} \tag{3.1}
\end{equation*}
$$

Proof. From the explicit expression of the derangement polynomials $D_{n}(x)$ (2.4), we have

$$
\begin{aligned}
\sum_{k=0}^{n}\binom{n}{k}(n-k+r)^{s} x^{n-k} D_{k}(1-x) & =\sum_{k=0}^{n}\binom{n}{k}(n-k+r)^{s} x^{n-k} \sum_{j=0}^{k}\binom{k}{j} j!(-x)^{k-j} \\
& =\sum_{j=0}^{n} j!x^{n-j} \sum_{k=j}^{n}(-1)^{k-j}\binom{n}{k}\binom{k}{j}(n-k+r)^{s} \\
& =\sum_{j=0}^{n} j!\binom{n}{j}^{n-j} \sum_{k=j}^{n}(-1)^{k-j}\binom{n-j}{k-j}(n-k+r)^{s},
\end{aligned}
$$

since

$$
\binom{n}{k}\binom{k}{j}=\binom{n}{j}\binom{n-j}{k-j}
$$

We replace $k$ by $k+j$ and obtain

$$
\begin{aligned}
& \sum_{j=0}^{n} j!\binom{n}{j} x^{n-j} \sum_{k=j}^{n}(-1)^{k-j}\binom{n-j}{k-j}(n-k+r)^{s} \\
= & \sum_{j=0}^{n} j!\binom{n}{j} x^{n-j} \sum_{k=0}^{n-j}(-1)^{k}\binom{n-j}{k}(n-j-k+r)^{s} \\
= & \sum_{j=0}^{n} j!\binom{n}{j} x^{n-j} \sum_{k=0}^{n-j}(-1)^{n-j-k}\binom{n-j}{k}(k+r)^{s} .
\end{aligned}
$$

By (2.6), we have

$$
\begin{aligned}
& \sum_{j=0}^{n} j!\binom{n}{j} x^{n-j} \sum_{k=0}^{n-j}(-1)^{n-j-k}\binom{n-j}{k}(k+r)^{s} \\
= & \sum_{j=0}^{n} j!\binom{n}{j} x^{n-j}(n-j)!S_{r}(s+r, n-j+r) \\
= & n!\sum_{j=0}^{n} S_{r}(s+r, j+r) x^{j} .
\end{aligned}
$$

From (2.8), it is equivalent to the righthand side of (3.1).
Remark 3.1. For $j>i \geq 0, S_{r}(i, j)=0$. Thus, when $n \geq s$, it is natural that (3.1) reduces to

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k}(n-k+r)^{s} x^{n-k} D_{k}(1-x)=n!B_{s, r}(x) \tag{3.2}
\end{equation*}
$$

By Lemma 3.1, we have the following theorem.
Theorem 3.1. Let $f(x)=a_{s} x^{s}+a_{s-1} x^{s-1}+\cdots+a_{0}$ be a polynomial of degree $s$. If $r$ is a nonnegative integer, then

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} f(n-k+r) x^{n-k} D_{k}(1-x)=n!\left\{\sum_{i=0}^{s} a_{i} B_{i, r}(x)-\sum_{n+1 \leq j \leq i \leq s} a_{i} S_{r}(i+r, j+r) x^{j}\right\} . \tag{3.3}
\end{equation*}
$$

Proof. Using (3.1), the theorem is easily obtained by linearity.
Remark 3.2. In fact, here we introduce truncated $r$-Bell polynomials:

$$
B_{s, r}^{(n)}(x)=\sum_{k=0}^{n} S_{r}(s+r, k+r) x^{k},
$$

with the exponential generating function

$$
\sum_{s=0}^{\infty} B_{s, r}^{(n)}(x) \frac{t^{s}}{s!}=e^{x\left(\sum_{i=1}^{n} \frac{i}{i}\right)+r t}
$$

For $x=1$, we obtain numbers that have a simple combinatorial interpretation: They are partitions of a set of size s into $k \leq n$ disjoint subsets such that the first $r$ elements are in distinct sets. For a fixed $n$, these polynomials form a generating set of the space of polynomials of degree at most $n$. As the referee pointed out, we can use this notation to give a simpler form to the statement of Lemma 3.1, which becomes

$$
B_{s, r}^{(n)}(x)=\frac{1}{n!} \sum_{k=0}^{n}\binom{n}{k}(n-k+r)^{s} x^{n-k} D_{k}(1-x) .
$$

Theorem 3.1 can then be rewritten as follows:

$$
\sum_{i=0}^{s} a_{i} B_{s, r}^{(n)}(x)=\frac{1}{n!} \sum_{k=0}^{n}\binom{n}{k} f(n-k+r) x^{n-k} D_{k}(1-x)
$$

We therefore have an equality between two linear combinations of families of polynomials. Suppose that $f(x)=\sum_{k=0}^{\infty} a_{k} x^{k}$ has an infinite radius of convergence. Passing to the limit, the equality becomes

$$
\sum_{i=0}^{\infty} a_{i} B_{s, r}^{(n)}(x)=\frac{1}{n!} \sum_{k=0}^{n}\binom{n}{k} f(n-k+r) x^{n-k} D_{k}(1-x)
$$

The identity relates the values of a function and the coefficients of its Taylor expansion.
Remark 3.3. The referee also pointed out that using the truncated $r$-Bell polynomials and generating series, the proof of Lemma 3.1 can be simplified. Now, we present his (her) proof. Lemma 3.1 is equivalent to

$$
\sum_{n=0}^{\infty} B_{s, r}^{(n)}(x) t^{n}=\sum_{n=0}^{\infty}(n+r)^{s} \frac{(x t)^{n}}{n!} \sum_{n=0}^{\infty} D_{n}(1-x) \frac{t^{n}}{n!}
$$

The left hand side is

$$
\sum_{n=0}^{\infty} B_{s, r}^{(n)}(x) t^{n}=\sum_{n=0}^{\infty} \sum_{k=0}^{n} S_{r}(s+r, k+r) x^{k} t^{n}=\sum_{k=0}^{\infty} x^{k} S_{r}(s+r, k+r) \frac{t^{k}}{1-t}=\frac{B_{s, r}(x t)}{1-t}
$$

By Dobinski's formula for r-Bell polynomials [14]

$$
B_{n, r}(x)=e^{-x} \sum_{k=0}^{\infty} \frac{(k+r)^{n}}{k!} x^{k},
$$

we obtain the righthand side

$$
\sum_{n=0}^{\infty}(n+r)^{s} \frac{(x t)^{n}}{n!} \sum_{n=0}^{\infty} D_{n}(1-x) \frac{t^{n}}{n!}=B_{s, r}(x t) e^{x t} \frac{e^{-x t}}{1-t}
$$

The two expressions are equal and Lemma 3.1 is proved.
When $r=0$, we establish the relationship between the derangement polynomials and the Bell polynomials.

Corollary 3.1. Let $f(x)=a_{s} x^{s}+a_{s-1} x^{s-1}+\cdots+a_{0}$ be a polynomial of degree $s$, then

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} f(n-k) x^{n-k} D_{k}(1-x)=n!\left\{\sum_{i=0}^{s} a_{i} B_{i}(x)-\sum_{n+1 \leq j \leq i \leq s} a_{i} S(i, j) x^{j}\right\} . \tag{3.4}
\end{equation*}
$$

Remark 3.4. Theorem 4 in [7] describes a relationship between the derangement numbers and the Bell numbers, while Corollary 3.1 in our paper is extended to the case of the derangement polynomials and the Bell polynomials. When $x=1$, (3.4) reduces to

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} f(n-k) D_{k}=n!\left\{\sum_{i=0}^{s} a_{i} B_{i}-\sum_{n+1 \leq j \leq i \leq s} a_{i} S(i, j)\right\} . \tag{3.5}
\end{equation*}
$$

In (3.4), when $f(x)=1$, we get

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} x^{n-k} D_{k}(1-x)=n! \tag{3.6}
\end{equation*}
$$

equivalently, by the binomial inversion formula we have

$$
\begin{equation*}
D_{n}(x)=\sum_{k=0}^{n}\binom{n}{k} k!(x-1)^{n-k} \tag{3.7}
\end{equation*}
$$

In fact, if we rewrite (2.1) as

$$
\frac{1}{1-t}=e^{x t} \sum_{n=0}^{\infty} D_{n}(1-x) \frac{t^{n}}{n!},
$$

we can easily find that (3.6) is a direct consequence of the above identity. When $f(x)=x-1$, we get

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k}(n-k-1) x^{n-k} D_{k}(1-x)=n!\left\{B_{1}(x)-B_{0}(x)\right\}=n!(x-1), n \geq 2 \tag{3.8}
\end{equation*}
$$

It can be rewritten as

$$
\begin{equation*}
D_{n}(x)=\sum_{k=0}^{n-2}\binom{n}{k}(n-k-1)(1-x)^{n-k} D_{k}(x)+n!x, n \geq 2 \tag{3.9}
\end{equation*}
$$

When $x=0$, (3.9) reduces to (1.5).
Lemma 3.2. If both $r$ and $s$ are nonnegative integers, then we have

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k}(k-r)^{s} x^{n-k} D_{k}(1-x) \\
& =n!\left\{\sum_{j=0}^{s}(-1)^{j}\binom{s}{j}^{\left.n^{s-j} B_{j, r}(x)-\sum_{n+1 \leq i \leq j \leq s}(-1)^{j}\binom{s}{j} n^{s-j} S_{r}(j+r, i+r) x^{i}\right\} .} .\right. \tag{3.10}
\end{align*}
$$

Proof. We have

$$
\sum_{k=0}^{n}\binom{n}{k}(k-r)^{s} x^{n-k} D_{k}(1-x)=\sum_{k=0}^{n}\binom{n}{k}(n-(n-k+r))^{s} x^{n-k} D_{k}(1-x)
$$

$$
\begin{aligned}
& =\sum_{k=0}^{n}\binom{n}{k} x^{n-k} D_{k}(1-x) \sum_{j=0}^{s}(-1)^{j}\binom{s}{j} n^{s-j}(n-k+r)^{j} \\
& =\sum_{j=0}^{s}(-1)^{j}\binom{s}{j}^{s-j} \sum_{k=0}^{n}\binom{n}{k}(n-k+r)^{j} x^{n-k} D_{k}(1-x) .
\end{aligned}
$$

By Lemma 3.1, we immediately obtain Lemma 3.2.
Remark 3.5. When $n \geq s$, (3.10) reduces to

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k}(k-r)^{s} x^{n-k} D_{k}(1-x)=n!\sum_{j=0}^{s}(-1)^{j}\binom{s}{j} n^{s-j} B_{j, r}(x) \tag{3.11}
\end{equation*}
$$

which is a generalized identity of (1.9).
By Lemma 3.2 and simple calculations, we have the following theorem.
Theorem 3.2. Let $f(x)=a_{s} x^{s}+a_{s-1} x^{s-1}+\cdots+a_{0}$ be a polynomial of degree $s$. If $r$ is a nonnegative integer, then

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} f(k-r) x^{n-k} D_{k}(1-x) \\
& =n!\left\{\sum_{0 \leq j \leq i \leq s}(-1)^{j} a_{i}\binom{i}{j}^{i-j} B_{j, r}(x)-\sum_{n+1 \leq t \leq j \leq i \leq s}(-1)^{j} a_{i}\binom{i}{j}^{i-j} S_{r}(j+r, t+r) x^{t}\right\} . \tag{3.12}
\end{align*}
$$

Remark 3.6. As discussed in Remark 3.2, we can have the same approach for Theorem 3.2 with the formula

$$
\sum_{i=0}^{s} a_{i} \sum_{j=0}^{i}(-1)^{j}\binom{i}{j} n^{i-j} B_{j, r}^{(n)}(x)=\frac{1}{n!} \sum_{k=0}^{n}\binom{n}{k} f(k-r) x^{n-k} D_{k}(1-x)
$$

In particular, suppose that $f(x)=\sum_{k=0}^{\infty} a_{k} x^{k}$ has an infinite radius of convergence. Passing to the limit we obtain

$$
\sum_{i=0}^{\infty} a_{i} \sum_{j=0}^{i}(-1)^{j}\binom{i}{j} n^{i-j} B_{j, r}^{(n)}(x)=\frac{1}{n!} \sum_{k=0}^{n}\binom{n}{k} f(k-r) x^{n-k} D_{k}(1-x) .
$$

The identity also relates the values of a function and the coefficients of its Taylor expansion.
In particular, when $r=0$, we have
Corollary 3.2. Let $f(x)=a_{s} x^{s}+a_{s-1} x^{s-1}+\cdots+a_{0}$ be a polynomial of degree $s$, then

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} f(k) x^{n-k} D_{k}(1-x) \\
& =n!\left\{\sum_{0 \leq j \leq i \leq s}(-1)^{j} a_{i}\binom{i}{j} n^{i-j} B_{j}(x)-\sum_{n+1 \leq t \leq j \leq i \leq s}(-1)^{j} a_{i}\binom{i}{j} n^{i-j} S(j, t) x^{t}\right\} . \tag{3.13}
\end{align*}
$$

If we take $x=1$ in Corollary 3.2, we recover Corollary 5 in [7].
In the following theorems, we establish the identities of the second kind involving the derangement polynomials and the $r$-Bell polynomials.

Theorem 3.3. If both $r$ and $s$ are nonnegative integers, then we have

$$
\begin{equation*}
B_{n, r}(x)=\sum_{j=0}^{n} \sum_{k=0}^{j}\binom{n}{j}(r+1)^{n-j}(-1)^{k} S(j, k) D_{k}(1-x) . \tag{3.14}
\end{equation*}
$$

Proof. If we let $u=1-e^{t}$, then

$$
e^{x\left(e^{t}-1\right)+r t}=\frac{e^{-x u}}{1-u} \cdot e^{(r+1) t}=\sum_{k=0}^{\infty} D_{k}(1-x) \frac{u^{k}}{k!} \sum_{k=0}^{\infty}(r+1)^{k} \frac{k^{k}}{k!} .
$$

Since

$$
\frac{u^{k}}{k!}=(-1)^{k} \frac{\left(e^{t}-1\right)^{k}}{k!}=(-1)^{k} \sum_{n \geq k} S(n, k) \frac{t^{n}}{n!},
$$

we have

$$
\begin{aligned}
e^{x\left(e^{t}-1\right)+r t} & =\sum_{p=0}^{\infty} \frac{t^{p}}{p!} \sum_{k=0}^{p}(-1)^{k} S(p, k) D_{k}(1-x) \cdot \sum_{q=0}^{\infty}(r+1)^{q} \frac{t^{q}}{q!} \\
& =\sum_{n=0}^{\infty} \frac{t^{n}}{n!} \sum_{j=0}^{n}\binom{n}{j}(r+1)^{n-j} \sum_{k=0}^{j}(-1)^{k} S(j, k) D_{k}(1-x) .
\end{aligned}
$$

From (2.9), we arrive at

$$
\sum_{n=0}^{\infty} \frac{t^{n}}{n!} \sum_{j=0}^{n}\binom{n}{j}(r+1)^{n-j} \sum_{k=0}^{j}(-1)^{k} S(j, k) D_{k}(1-x)=\sum_{n=0}^{\infty} B_{n, r}(x) \frac{t^{n}}{n!}
$$

By comparing the coefficients of $t^{n} / n!$, we get

$$
B_{n, r}(x)=\sum_{j=0}^{n}\binom{n}{j}(r+1)^{n-j} \sum_{k=0}^{j}(-1)^{k} S(j, k) D_{k}(1-x),
$$

which leads to Theorem 3.3.
Taking $x=1$ in (3.14), we obtain the explicit expression of the $r$-Bell numbers $B_{n, r}$ in terms of the derangement numbers $D_{k}$.

Corollary 3.3. If both $r$ and $s$ are nonnegative integers, then we have

$$
\begin{equation*}
B_{n, r}=\sum_{j=0}^{n} \sum_{k=0}^{j}\binom{n}{j}(r+1)^{n-j}(-1)^{k} S(j, k) D_{k} . \tag{3.15}
\end{equation*}
$$

When $r=0$ in (3.14), we have the relationship between the derangement polynomials and the Bell polynomials.

Corollary 3.4. [12] For $n \geq 0$, we have

$$
\begin{equation*}
B_{n}(x)=\sum_{j=0}^{n} \sum_{k=0}^{j}\binom{n}{j}(-1)^{k} S(j, k) D_{k}(1-x) . \tag{3.16}
\end{equation*}
$$

Remark 3.7. By the binomial inversion formula, we can rewrite (3.14) as

$$
\begin{equation*}
\sum_{k=0}^{n}(-1)^{k} S(n, k) D_{k}(1-x)=\sum_{j=0}^{n}(-1)^{n-j}\binom{n}{j}(r+1)^{n-j} B_{j, r}(x) \tag{3.17}
\end{equation*}
$$

By (3.17), we obtain the explicit expression of the derangement polynomials $D_{n}(x)$ in terms of the $r$-Bell polynomials.

Theorem 3.4. If both $r$ and $s$ are nonnegative integers, then we have

$$
\begin{equation*}
D_{n}(x)=\sum_{k=0}^{n} \sum_{j=0}^{k}(-1)^{n-k-j} s(n, k)\binom{k}{j}(r+1)^{k-j} B_{j, r}(1-x), \tag{3.18}
\end{equation*}
$$

where $s(n, k)$ are the Stirling numbers of the first kind.
Proof. Let $T_{n}=\sum_{j=0}^{n}(-1)^{n-j}\binom{n}{j}(r+1)^{n-j} B_{j, r}(x)$ in (3.17). By the orthogonal relationship between two kinds of Stirling numbers [6],

$$
\sum_{j=k}^{n} s(n, j) S(j, k)=\delta_{n, k},
$$

where $\delta_{n, k}$ is the Kronecker symbol defined by $\delta_{n, k}=1$ if $n=k$ and $\delta_{n, k}=0$ otherwise, and one can obtain

$$
D_{n}(1-x)=(-1)^{n} \sum_{k=0}^{n} s(n, k) T_{k} .
$$

Replacing $x$ by $1-x$, we arrive at (3.18).
Taking $x=1$ in (3.14), we obtain the explicit expression of the derangement numbers $D_{n}$ in terms of the $r$-Bell numbers $B_{j, r}$.
Corollary 3.5. For $n \geq 0$, we have

$$
\begin{equation*}
D_{n}=\sum_{k=0}^{n} \sum_{j=0}^{k}(-1)^{n-k-j} s(n, k)\binom{k}{j}(r+1)^{k-j} B_{j, r}, \tag{3.19}
\end{equation*}
$$

where $s(n, k)$ are the Stirling numbers of the first kind.
Taking $r=0$ in (3.14), we have the following corollary.

Corollary 3.6. [12] For $n \geq 0$, we have

$$
\begin{equation*}
D_{n}(x)=\sum_{k=0}^{n} \sum_{j=0}^{k}(-1)^{n-k-j} s(n, k)\binom{k}{j} B_{j}(1-x), \tag{3.20}
\end{equation*}
$$

where $s(n, k)$ are the Stirling numbers of the first kind.
Remark 3.8. In [12], Kim et al. obtained Corollaries 3.4 and 3.6 by using the generating function method. Their method provides us with a good idea to prove Theorems 3.3 and 3.4. In the proof of Theorem 3.4, we use the binomial inversion formula and the orthogonal relationship of two kinds of Stirling numbers, which seems more direct.

Remark 3.9. Theorems 3.3 and 3.4 have a common feature, which is that the lefthand member of the equality is a combinatorial number, while the righthand member of the equality is a somewhat complicated double sum. For algorithmic motivation, these results show that either derangement polynomials or r-Bell polynomials can be calculated using the other one. Furthermore, these results may well have combinatorial consequences, as double sums involve combinatorial numbers, binomial coefficients, signs and so on. It would therefore be interesting to look for an interpretation of these two identities from the point of view of combinatorial objects. We will continue our research in the following paper.

## 4. Conclusions

We have obtained two kinds of identities involving derangement polynomials and $r$-Bell polynomials. The identities of the first kind presented a relation between two linear combinations of families of polynomials. They also related the values of a function and the coefficients of its Taylor expansion. The identities of the second kind extended some of the results on derangement polynomials and Bell polynomials due to Kim et al and had a common feature, which is that the lefthand member of the equality is a combinatorial number, while the righthand member of the equality is a somewhat complicated double sum.

## Use of AI tools declaration

The authors declare they have not used Artificial Intelligence (AI) tools in the creation of this article.

## Acknowledgments

We are grateful to the referees for their careful reading and helpful comments that have improved the presentation substantially from the initial submission. The work was supported by Zhejiang Provincial Natural Science Foundation of China (Grant No. LTGY23H240002), Zhejiang Province Higher Education Teaching Reform Project (Grant No. jg20220457) and Ningbo Municipal Natural Science Foundation (Grant No. 2023J302).

## Conflict of interest

The authors declare that they have no competing interests.

## References

1. A. Z. Broder, The $r$-Stirling numbers, Discrete Math., 49 (1984), 241-259. https://doi.org/10.1016/0012-365X(84)90161-4
2. L. Carlitz, Weighted Stirling numbers of the first and second kind-I, Fibonacci Quart., 18 (1980), 147-162.
3. L. Carlitz, Weighted Stirling numbers of the first and second kind-II, Fibonacci Quart., 18 (1980), 242-257.
4. A. Chouria, J. G. Luque, r-Bell polynomials in combinatorial Hopf algebras, C. R. Math., 355 (2017), 243-247. https://doi.org/10.1016/j.crma.2017.01.015
5. R. J. Clarke, M. Sved, Derangements and Bell numbers, Math. Mag., 66 (1993), 299-303. https://doi.org/10.1080/0025570X.1993.11996148
6. L. Comtet, Advanced combinatorics: The art of finite and infinite expansions, Dordrecht: D. Reidel Publishing Company, 1974. https://doi.org/10.1007/978-94-010-2196-8
7. Z. Du, C. M. da Fonseca, An identity involving derangement numbers and Bell numbers, Appl. Anal. Discr. Math., 16 (2022), 485-494 https://doi.org/10.2298/AADM200705018D
8. N. Eriksen, R. Freij, J. Wästlund, Enumeration of derangements with descents in prescribed positions, Electron. J. Comb., 16 (2009), R32. https://doi.org/10.37236/121
9. C. M. da Fonseca, On a closed form for derangement numbers: An elementary proof, RACSAM, 114 (2020), 146. https://doi.org/10.1007/s13398-020-00879-3
10. T. Kim, D. S. Kim, G. W. Jang, J. Kwon, A note on some identities of derangement polynomials, J. Inequal. Appl., 2018 (2018), 40. https://doi.org/10.1186/s13660-018-1636-8
11. T. Kim, D. S. Kim, H. I. Kwon, L. C. Jang, Fourier series of sums of products of $r$-derangement functions, J. Nonlinear Sci. Appl., 11 (2018), 575-590. https://doi.org/10.22436/jnsa.011.04.12
12. T. Kim, D. S. Kim, L. C. Jang, H. Lee, Some identities invovling derangement polynomials and numbers and moments of Gamma random variables, 2020. https://doi.org/10.48550/arXiv.2011.01577
13. Y. He, J. Pan, Some recursion formulae for the number of derangements and Bell numbers, J. Math. Res. Appl., 36 (2016), 15-22.
14. I. Mező, The $r$-Bell numbers, J. Integer Seq., 14 (2011), 3.
15. F. Qi, J. L. Wang, B. N. Guo, Closed forms for derangement numbers in terms of the Hessenberg determinants, RACSAM, 112 (2018), 933-944. https://doi.org/10.1007/s13398-017-0401-z
16. R. P. Stanley, Enumerative combinatorics, Cambridge Studies in Advanced Mathematics, 2011.
© 2024 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)
